New Maths GCSE: A7 - Function Machines - algebraic

expressions
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Which of the following gives the correct
output y, as an expression in terms of x?

B y=>5x B y=6x

B y=3x+2 ﬂy=2x+3
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Which of the following gives the correct
output y, as an expression in terms of x?

y=5x—1 By=4x

B y=-5 BYy=5x-1)
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y=2(x+4) By=(x+4)>

y=6x ﬂy=2x+4
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Which of the following gives the correct
output y, as an expression in terms of x?

y=6x—5 PBPBy=x-30

y=6(x—5) @Y=—30x
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Which of the following gives the correct
output y, as an expression in terms of x?

X
B y=2x+7 ny=§+7
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Which of the following gives the correct
output y, as an expression in terms of x?

x—4 4
y=—3 By=x—3

X
y=gz—4 B y=x—4=+3
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Which of the following gives the correct
output y, as an expression in terms of x?

y =x+ 32 B ry=2(x+3)

g = mp® o B2 B y=(x+3)?
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